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— Stan Gudder
Mathematician




Agenda

Maths expectations for children

How we teach Maths at St Vincent's

How you can teach Maths at home

Video support for parents

Opportunity to see Maths being taught in all class
across the school




Each class has a Yearly Overview to follow which is linked
to the Maths No Problem scheme.

Each class also has a Learning Journey to assess the
children with.

- This can be used to help teachers plan as gives clear
examples and expectations.

- Look on website to find your child’s Learning
Journeys so you can see what they have to learn
(found on the Year page - under news/blog/home
learning)

- You will get updated ones on Parents Evening.
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Most lesson are using Maths No Problem

- Encourages discussion and exploring methods

- Focus on the fundamentals - a lot of time given to
making children secure in this.

- Use a lot of manipulatives and pictures, before
moving onto numbers.

Moved away from grouping

- Children work on the same concept, using their
learning partners for support.

- Lessons consist of all children doing the same work,
and then challenge activity if children finish.




Place Value

- Basis of all Maths
- Partitioning of a number

- Expressing this in different ways.

23 5
20 (3

tens

ones




Calculation

23+14 =

tens

ones

tens ones
1 4
2 3
1 4
3 7




Renaming

23+ 18 =

Add the ones: 3+8=11

Add the tens: 2+1=3
tens ones
3 11




Starts with a picture and a story

Moves onto using numbers and written method

Uses children’s understanding of place value and times tables



Year 1

Adding Equal Groups Legern w

There are 3 packs.
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“traysofs =20 jER 5,10, 15, 20 There are | | altogether.
4 groups of 5 =20 TT &
4 fives =20

There are 20 ' altogether:



Multiplying by 2, 5 and 10 Year 2

sx2=10 A S ERR= 2x5=10

Who is correct?

l ‘ Why?

5x2=10 2x5=10

5x2Zisegualto2x5. ‘

o How many dots are there?
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2x5=10 5x2=10

2x5isequalto 5= 2.



Year 3

How many sranges are there in the 4 boxes altogether?

Multiply 2 ones by 4
2x4=8

Multiply 2 tens by 4
20 x4 =80

There are 80 oranges in the 4 boxes ultaggther.
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Year 4

Method 2

Numbers
8x11=80+8
; i Methed 3

Segve  ©

How many | are there in 8 boxes? @

10

o 8x1l=

10
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Method 1 '
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I knew it.
It's 88. 8x=10=80
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Multiplying 2-Digit 10
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8x1=8
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Special Offer!
8 boxes for
£118

Is the offer a good deal?

I think itis! I will buy
3 sets of 8 boxes.

o 3= £118=

This shows 118

Year 5

O+ 00000000

3Ix 8= 24
3= 10= 30
3 =100 =300

118
x 3

2 & — multiply by ones
3 0= multiply by tens
+ 3 0 0—> multiply by hundreds

3x118= 354

354

Three sets of 8 boxes cost £354,

Lot Loarn )

- 0000
0000

00000000 -
00000000
* 8
00000000 ——
6 4 =% by ones
+ 8 0 —> multiply
—  bytens
144

8x10=80 8x8=64
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What is the

8 boxes would have cost £144. .
saving?

They now cost £118.



Year 6

A standard box of apples contains 113 apples.
A pastry shop needs 2500 apples for its apple

pies. Would ordering 23 standard boxes of
apples be enough for them?

e 20x113 =
O—2-C

B —1C @

ooo;"> 10 10 10 =

10 x 113 = 1130 ’ '
20 x 113 =2260

10 %113 =1130

o 23x113=
20=113=

20=113 = 2260 a
3=113 = 339 —

23 %113 = 2599 Sxlls= “
L

23 boxes contain 2599 apples.

113 11 3 113 11 3
% 20 = 3 * 2 3 * 23
2260 3 3 8 } 2260 3 3 85
+ 338 +2260
25989 259809

23 boxes contain 2599 apples.
There are enough

apples in 23 boxes.

Estimate 23 = 113 by :;%

calculating 23 = 100. -“?’r



How to teach Maths at home.

Practise little and often

Times tables
Number bond facts (+ and -)
Playing with numbers




Link: School website -> Curriculum &

Videos for Parents. _Ethos -> Curriculum

PARENT-VIDEOS

m@mm

Link: School website -> Curriculum &
Ethos -> Home Learning




Any questions?

The only way to learn mathematics
is to do mathematics.

— Paul Halmes —
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